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When a drop of dettol is added to 100 mL of water, one can smell of dettol. If 10
mL of this solution is taken in another beaker and further diluted by adding
90 mL of water, one can still smell of dettol. After diluting it for another 2 times
like this, the smell still persists. ? State the physical nature of matter.

\7 Ry R & S SRR R uF w3 @ S et i sidfm e 1
wFraa e 9R §1 73 vftme @ fafan)
MName the phenomenon when a living plant cell loses water through osmosis and
shrinks.

@/ 30 kg ZRH = R 992 F1 T4 150 kg ms— 1 &1 FHH1 A7 9 FifS@ 1

A body of mass 30 kg has a momentum of 150 kg ms 1. Find its velocity.
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A rubber band changes its shape on stretching. Is it a solid ? Justify your answer.

4
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Name the technique used for the separation of the following mixtures :

{a) Sugar in water (b}  Camphor in salt
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Mention one region in the human body where adipose tissue is present and state
one function of the tissue.

10 kg 7599 & O fIog 9 gl § F W A o e g 8 U TeUHA S R 2
FIEW?

A body of mass 10 kg is taken to the centre of earth. What will be its mass and
weight there ?

List any six factors for which variety improvement in crops is done.
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Explain animal husbandry ? Differentiate between milch and draught animal
What do the following supply to dairy animals ?

(i) Roughage (ii) Conrentrates
30 et i 4 v o o e P i 3
(a) W (b) FoEmiw (€ &
Differentiate between liquids and gases on the basis of their.
(a) fluidity (b}  rate of diffusion (<) volume
C1Y e S s e SR arafae faeas F fade it 3
(@  FEETE (b)  TreEa © e
Differentiate between suspension and true solution on the basis of :
(a) homogenity (b) filterability (c) stability
J (a)  FEE W SR ST ol e e = we 2 3

R

(b) =i Tt = auies s faeed =6 = s §?

(©) e faee swE FiivE e § 9 1 0fa ) 99 $9 916 S5 5
am fafEg |

Why is the cell called the structural and functional unit of life ?

Why is the plasma membrane called a selective permeable membrane ?

Name the factor which decides the movement of water across the plasma
membrane.

(a)  few mu uEy wifdE % fam = dem wifa &Ik w8 vt 3
(b) =4 wiferR w1 3 favreed fafag
()  UEYF uE Hmw AW fafay et T el sefem gt
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Observe and identify the following plant cell.
Explairtwo characteristic features of this cel.
Suggest one part of the plant where such cells are present.

8 T e 3 e s 97 e S o | g & Ry ;

State the location of areclar tissue in human body. Give its two functions.
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Define uniformly accelerated motion and uniform motion. Also write any two
equations of uniformly accelerated motion.

\g/mkgmﬁﬁﬂgﬁﬁEN—lﬂ?%ﬁﬂﬁmkgmﬁﬂﬂmﬁmﬁ 3
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A girl of mass 50 kg jumps out of a moving boat of mass 300 kg on to the bank
with a horizontal velocity of 3 ms~1. With what velocity does the boat begin to
move backwards 7

@/ﬁmuﬁmﬁﬂﬁiﬁquﬁ%ql 3

State three characteristics of action-reaction fcrces

{/Wﬁmﬁﬁﬁﬂqml T YA GHI 9T # g0 ¥ v FEE W EEE 3
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State universal law of gravitation. Use it to find the value of acceleration due to
gravity at a height h above the earth’s surface.

y@%ﬁwmaﬁﬁﬁmmmmmm| g (zE 6x104 3
kg) FEHT (B59H 8 x 1020 kg) 1 20.01 x 1019N o & sfa Ftdt 81 1 & i =l
Tl T BT (G = 6.67x 10~ 1INm? kg~2)
Name the force responsible for motion of planets around the sun. Earth

(mass 6x 102 kg) attracts moon (mass §x 1020 kg) by a force of 20.01 x 109N,
Determine the distance between them. (G = 6.67x 10~ 1INm2 kg~2)

(a) Tt =i fanedl =m Tafedi & m ferfag i s dfera =i it ) 5
)  FH o w5 vt s ¥ fo st 9 e el 3 emafes fafiel F
M fafaw |

(a) Mame any four methods of irrigation and briefly describe them.
(b) Name any two fresh initiatives taken for increasing the water available for
agriculture. :
&egdr S OR

() = feEE 3 W % wee & Wy rew () % 98 I g 88 mee
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(a) A farmer observed Xanthium plant growing along with wheat crop. What
is Xanthium ? What should we do to protect his crop ? Justify.

(b) List any two advantages of crop rotation.

(<) List three ways by which insect pests attack the plants.

2. (a) Tt oo % TN Wi T SRR S S wEd € Fed BY B & A A 5
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(d) T aomEl % wftafbe =1 :
(i) 308 K= #fcwam &
() 15°CH Fema d
(a) Density of a substance is defined as mass per unit volume. Arrange the
following substances in order of increasing density - rubber, smoke, honey,
aleohaol.
{=)] Generally solids sink in their own liquid, but ice floats on water. Justify.
(c) When a liquid is heated, the inter molecular forces of attraction decrease.
How would it affect the density of liquid ?
{d) Convert the following temperatures :
{i) 308 K to Celsius scale
{ii) 15°C to kelvin scale.
ET S OR

(a) = = i e
(b) =R FnE fatae o wamE e s £
(<) = & wrw fafae -
i) =2 v o WA F I3 F e @ S e g
(i) o= 49 ™ A & 9 T JE 29 W o foeed €1
{ Define evaporation.
\.(J/Name four factors on which rate of evaporation depends.

Accpant for the following :
%e water kept in earthen pot is cooler than tap water at a given

place.
23 People sprinkle water on the roof after a hot sunny day.

@) =G TE A frewd = guw =3 9 Gl = oam fefew) 9 fafa s 5
arfte | firg wer sae &2

(b) v 3 TRt fed § #8 & om gEeg S @ w1
ey fafa |

(a) Name the technique used to separate alum from impure sample. Why is
this technique better than simple evaporation technique ?
(b) Tabulate two differences between physical and a chemical change. Give
one example of each.
Y / OR

() Trieas | | yow = sifts ot oo ofieds | oiffea S e
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(b) e & o WEH 9 o, s e ofeds Eha)
W each of the following as physical or a chemical change. Justify
yo

answer.
i boiling of water

(i1 burning of paper
g Rusting of iron

te the physical and chemical change that takes place while burning of a
candle.

23./ S-9OG WE 9 4 R4 €7 39 UIE ® @i % o o fetae ) e e e 5
e wife i
(i)  THEEEE 9T H i w g e
(i) UEHEHA &R e war gen e
(i) fommEen F favs)
What is meant by velocity time graph 7 State two advantages of plotting this
ph. Draw the shape of velocity time graph for
i) body moving with uniform velocity
(i)  body moving with uniform acceleration and
(iify body atrest.
. ¥9gar /OR

& AR 9 ¥ 9 s fahEn 1§ five tHwgeH &fd S 5s 5 10 m/s 9 70 m/s
1 T W A E | it -
(i) =
(i) = wa d fyve gy = gl

w0 7ift & e an-w9a % T
Mention two differences between speed and velocity. A body accelerates for 5s to
change its speed from 10m/s to 70m/'s. Determine.
(i} acceleration of body
(id) distance covered during this interval and

Draw velocity time graph for this motion.
. Ham w1 Fraw fafey @i =pa % i % i fem o wm R e Fif 5
100 m/s % = | =0 W 120 g o991 @ 0% frde 718 10 om =12 W@ & =R =1 e
T 60 m/s % 37 F T Fremert ¥1 Y9 or0 Tk O STIRE sitaa @@ Fa Fife)

State law of conservation of momentum and prove it using Newton's third law of
ion. A cricket ball of mass 120 g moving with a speed of 100 m/s pierces
through a sack of sand 10 cm thick and comes cut with a velocity of 60 m/s.
Determine the average force exerted by sand on the ball.
94t £ OR

(@) =@ i wrcaye witorg ) e five § 9@ gR 30 =91 wvE fafa
A T S 80 N F w T 50 kg R F aAlaw B e o ¢ wew
&1 =0 19 RIS IFH FIEE & 9 & fam =g, ° @ fea am Y
“®

Define force. State four effects a force can produce in a body.
A man pushes a box of mass 50 kg with a force of 80 N. What will be the
acceleration of the box 7 What would Je the acceleration if the mass were
halved ?

HH-=/ SECTION - B
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Which of the under mentioned food groups will not turn blue black when treated
with jodine ?

(2)

rice, potato, bread

(b) bread, wheat, corn flour
(c) rice water, boiled potato, corn starch
(d) dal, fish, meat
g/ ﬁiﬁaﬂﬁﬁmﬁmmﬁm,%q@ﬁmmmmwn 1
Sifra fago &1 & .
(a) TR T (b) TEHE @I
(c)  TovE 8 ) (d) ==& T

To a sample of arhar dal adulterated with metanil yellow, concentrated
hydrochloric acid was added. The colour of the reaction mixture :

(a)
(c)

disappeared (b)  remained the same
became pink (d) became black

ﬁsﬁﬂ:mﬁqﬁaﬂqaﬁmﬁiﬁmmﬁﬁmwtl % ¥ 9e § 3 9w S w9y 1
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Graph for change of ice to steam is shown bellow -
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The inference drawn out of the observation from the change of state ice to water to
steam is/ are :
{a) during melting, temperature of the substance does not change.
{(b)  temperature rises after all the ice melts.
{c) at a specific temperature water starts boiling and temperature remains the
same during of the conversion of water into steam.
(d)  all of these.

@ o foreneft e # g T S # ol S s W A B R S A T 1
Ufera st & 6 oo .
(a)  Frafmm 93 Fea 2
(b) sfrafie w9 § =g@ B
(c)  wew si-of e ¥ TR e | %9 g ® iR e @ s &1
(d) B OE-o T @ el e fan @ s 2

A student takes some water in a beaker and leats to determine boiling point. He
observes that temperature :

(a) keeps on increasing regularly

(b)  increases irregularly.

(c) first increases slowly then decreases rapidly and become constant.

{d)  first increases gradually and eventually becomes constant.

\zﬁ/ﬁﬁqmﬁﬁﬁwwﬁﬂﬂmﬁqaﬁnﬁaﬂ%#mmﬂzaﬁﬁmmﬁ 1

fimi
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=
=
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In figure given, below identify the place where one can find only pure ammonium
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chloride after heating.
{A)

"
s

(a) A (b} B (c} C (d) A and B both

=it femm T o3 % sIgER F9R A, B, €, @R D F fafier voredf faem ot £ 1

(@) A (b) B & C 4 D
Different substances are added in beaker A, B, C, and D as shown below :

Kerosene

A B C D
The mixtures are stirred well. A true solution is formed in the beaker.
@ A (b) B B e (d D

TR Ft S T SeE Teet B T w W 1
(@)  Tewt frse w ) (b) &% H Siew feer o &
(c) oo =@ T & s (d)  THow wfemm €3 o ¥

When a mixture of iron filings and sulphur powder is heated :
(a) sulphur starts melting (b) iron filings starts melting
(<) mixture becomes red hot (d} mixture starts evaporating

Tt 19 5 ¢ 5 %1 wu fom e weemet 1% 5 g arRr N faw @ w9 1
wETE 8 10 mL TRl o7 = ) g% e e smm

(a) o weafEl ¥ eege F Ias B ot g9E B

(b) T I ¥ vl [ el e & S i 5t SE €

(c)  ooEe [ H oEet [ 5 10e) SREEA & Soied & & A4S 8

(d) el 1 ¥ =i srfufen T aet

In test tube 1, 5 g of zinc dust was taken. In test tube IL, 5 g of granulated zinc was
taken, 10 mL of of dilute sulphuric acid was added into each test tube. It will be
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observed that :

(@)  Same rate of evolution of hydrogen gas in both the test tubes
(b) faster in test tube II than in test tube |

(c} faster in test tube I than in test tube II

(d}) no reacton in test tube 11

#R F1 gien 3R gew Tee ¥ fugv, 4 9 g # 9o ¥ AT e sRaceEe
w1 WA W #1 PR SEuTwEE 1 T G 969 W gEyr @t =i,
A -

(@) 993 T =) (b) G TeERE A ¢TI =6l |

(c) ¥ ¥ g TE Ae (d)  =aTen ¥ g% vE el

Carbon disulphide is used to dissolve sulphur from a mixture of sulphur powder
and iron filings. The precaution required to handle carbon disulphide
is:

(a}  keep away from air (b)  keepaway from iron sulphide

(€}  keep away from water (d)  keepaway from flame

i F FE FE G5 F @ FIR gehe e ¥ v ) e G
(a) @ Fw § FE yiEds 78 2mi (b) e F e WOET T 9= BT
(© @ % Fie 9 A wa 9= e | (d) TR F wie W v s g

A nail of iron is placed in a beaker containing copper sulphate selution. The next
day, the iron nail will :

{a) remnain as it is (b) have green deposition

(c) have blue deposition (d) have reddish brown deposition

oy 5 faedt § wifen iftm 509 % foau o =me 99 & fou =me W e
=ifen |

(a) s = o g e (b) it = e fowe |

(©) v i (d) T I HGE I H Yot Wl

To observe cells in an onion peels, we must prepare the slide by mounting on it.
(a)  crushed pump of onion (b)  dry scale leaf
{c) green leaf of onion (d)  thin layer of fleshy leaf of onion

A FUE FIvEE $i AHE e Uk w0 w e F 8 o s g
B %, e

() i et ®) FEw

(€ =it fafw (@) =ife E=

When a temporary mount of human cheek cells is observed under a microscope
one of the following is not visible that is : -

(a)  cell membrane (b) nucleus
{c}  cellwall (d) cytoplasm

sfgm Su1fm gr sififem == =+ foeel =1 s wge #1 gauee ¥ UEE S w
a1 i fufe =1 1 feea @

[
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Amit is observing temporary mount of an onion peel stained with safranin under a
microscope. The colour of the cell wall appears :

deep blue (b) black (¢)  pinkishred (d)  yellow
fordraamadt & smaR W e wemEl & o W | vei 1
(L. 1
i w by A
bl TG LT *
| i. ." ] S
L
R
A B C

(a) it S, fenm weiteEm
(b)  THoEH, i wifie, TEEw
(© T, TEmm, dh s
(@) e, wWAEEeE, i R

Identify the following slides in the correct order based on the features.
{_—I_ ]_ ff ‘“E Fl'.; f= ?-E

B =
Nerve Cell, Parenchyma, Sclerenchyma
Sclerenchyma, Nerve cell, Parenchyma
Sclerenchyma, parenchyma, Nerve cell
Parenchyma, Sclerenchyma, Nerve cell

@ tfan Tt ag @ € - 1

() =T i uE dEera FiEE |

(b) FEs F o SErEn S|

(€ rEnsd & 9 SeAEer AR SgAT S|

(d) IR IR U e FE

The striped muscle fibre are :

(a)  Spindle shaped and uninucleate

(b) Cylindrical without nuclei

(c) Cylindrical with striations and many nuclei

(d) Cylindrical and uninucleate.
‘y/5gﬁ¥rﬁmaﬁz4mﬁ#fmmﬁaﬁWWi it g€ ferufiell &1 2o9mH 7g 1

v T | R g STt Sie w5 e wie @

(a) 20% b 25% (c)  40% (d) 45%

5 g of raisins were placed in distilled water for 24 hours. The mass of soaked

raisins was found to be 7 g. The correct percentage of water absorbed by raisins is
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dfts 9 W foga ' TR v RS S YR @R sew fagen o F g
FEIF 9 F A4 Hay it # F v S w6 F e o fand 3 s .
THE H W W TEE gd, ufiem, afim o g fyn F wien) S = fawen T 3
forq, st =@ &

(a) vy T o srfmaw oin g fomm & =em

(&) T e o sEe

(c) I d v wg 1@ ofn ufew fawmad 4§ i

(d)y  =TTRE FYd ¥

While doing an experiment “to establish the relationship between weight of a
rectangular wooden block lying on a horizontal table and minimum force required
to just move it using a spring balance”, a student kept the block on wooden table
and pulled it towards East, West, South, and North directions. The force required
to just move the block will be:

(a) ~ maximum in East direction and minimum in South direction

(b} equal in all directions

(c) equal in North and South while different in East and West directions

(d) datais insufficient

FHOFER g6 3R 59 W W@ A6E F 2 ® Wt & fog e H 3 SR wee w8
&7

(@) oI G B e (b) T fas & e

(€ o fast 391 wifew (d) A R P A1 TR # =)

For pulling a wooden block placed over a table with the help of spring balance.
Which of these is not correct 7

(a)  Block should be rough (b)  Block should be smooth
(c) Table should be smooth (d)  Block and table both should be rough.
-00o0-
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